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Comparison of the CO2 exhaled from our lungs with the carbon dioxide released from burning coal, oil and gas in the UK
I have done this calculation, as shown below, based on an average daily intake of 2,500 kCals per day.  It is also based on a recommended balance of calorific intake between carbohydrate, protein and fat of 50%, 20% and 30% respectively.  

	Estimate of Carbon Dioxide Exhaled Daily by an Individual

	
	% C by wt
	kg CO2 per kg consumed
	Calorific Value kCal/kg
	% of Cals
	kCal/ day
	g/day
	g CO2 /day

	Carbohydrates
	42%
	1.5
	4,000
	50%
	1,250
	313
	482

	Proteins
	48%
	1.7
	5,500
	20%
	500
	91
	159

	Fats
	82%
	3.0
	9,000
	30%
	750
	83
	253

	Total
	
	
	
	100%
	2,500
	487
	894


On this basis we each breathe out a little less than 1 kg of CO2  each day making an annual total of about 325 kg each or 20 million tonnes per year for the whole British population.  From DTI figures the total UK output of CO2 from the burning of fossil fuels is 600 million tonnes annually.  

The coal, oil and gas we burn each year releases 30 times more CO2 into the atmosphere than the total we humans release from our lungs.

There is a further point.  Like renewable fuels, we are carbon neutral.  Exactly the same amount of CO2 was absorbed from the atmosphere, when our food was grown, as is released when we breathe out.

The total carbon dioxide exhaled from the lungs of us all in the UK is only 3-4% of the total CO2 produced from the burning of fossil fuels, and it does not contribute at all to global warming because of its atmospheric origin.
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